
Solution 

a. Z varies directly as x and inversely as twice the cube root of y is written as Z 𝛼 
𝑥
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 which is equal to  Z =  
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2( √𝑦)
3 . k is constant 

   Since Z = 8, x = 4, y = 
1

8
, substitute them in place of the variables. 
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   2 = k 

 ∴K = 2 

This gives: Z = 
2𝑥
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         Z = 
𝑥

√𝑦3  

        Z(√𝑦3 ) =( x) 

     [Z(√𝑦3 ) ]3=( x)3 

       (Z3(√𝑦3 )3= x3 
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